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INSTRUCTIONS TO CANDIDATE

1. The Question-booklet contains 100 objective type questions. The candidates must
atternpt all the questions. There is no negative marking.
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2. No Second Question-booklet OR Answer Sheet will be given to the candidate under
' any circumstances whatsoever. :
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3. The candidate within 10 minutes .of the issue of Questian—book[t-[, will check up and

ensure that it contains all the pages and ng m"“ﬁ!sing. T o ooy,
the candidate should report (o the Invigjlator and get it changed other fo, X &‘P g‘i‘i{sj,
Question-booklet. complete
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10.

11.

12.

The candidate will write Roll Number only on the Cover Page and on the Answer Sheet of
the Question-booklet at the places provided for the purpose and nowhere else, otherwise
the candidate will be disqualified in the Entrance Test.

st qvT-gfER & STEE-gR W Al gw-ow @ ffds T 9T g ST SvgsencE
RrEd, oo =i g ofendl wdur ulen @ dfem w R ST

Do not write your Roll No. OR Name inside the Question-booklet.
Fo7- R # OT=T ST T Al STgEHE T e |

There shall be no erasing or overwriting in the answers given on the Answcr Sheet,
in which case such answers shall be deemed as incorrect. '

T RR T e owdl @ frerd o Asd Rrad s wE ET =i,
Faifes Ol Rufy & erffem ==t My sty e frar SR |

Use of log tables or calculators is not permitted,

AT T A AE % 3uEiT @ ety TE7 e

No candidate will be permitied to enter the Examination Ilall aftcr the expiry
of 30 minutes from the commencement of the Entrance Test.
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No candidate will be permitted to leave the Examination Hall until the expiry of
two hours from the commencement of the Entrance Test.
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Candidate will not bring any loose paper, whether written or blank, inside the
Examination Hall except the Admit Carc.
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performance in the Test will be cancelled.
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Candidates are required to deposit the only OMR Answer Sheet at the close of the
andidates j
Examipation.
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SCHOOL ENTRANCE TEST, 2017

CLASS : XI
hedl ¢ XI
BIOLOGY
SIEACHIT
Time : Two Hours | [ Maximum Marks : 100
77T - 7 g2 | [ gorfes : 100
- IMPORTANT

| Read carefully the ‘Instruction for Answering' given on the
‘ Answer Sheet and answer the questions as directed -

ITCHH TT Re M G o v # R srgder s @
afen S e Iav s -

1. Alamp has a resistance of 96 ohms. How much current flows
through the lamp when it is conneected tg 120 Volts ?

(1) 1.25 Ampere (2) 0.8 Ampere
(3) 2.50 Ampere : (4) 1.6 Ampere

ngamzﬁrqﬁtﬁu%aﬂq%wﬁ%__lzoﬁﬁﬁ &, ar
q ol oy sl ek 2 = i

(1)'].25@::1:[? | (2) 0.8 gy
(3) 2.50ufggy - (4) 1.6 Tfgery

L P.T.0.
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2. The work done in moving a charge of 5 coulomb from a point at a
potential of 210 volts to another point at 240 volts is :

(1) 1200 Joule (2) 150 Joule
(3) 105G Joule ' (4) © Joule

5 e B uw FRAY H 210 deEAr B TH fAg @ 240 qvedr &
frg ar @ s # Rear mm & R

(1} 1200 Sfe (2) 150 Syt
(3) 1050 5@ (4). 6 S

‘3. Which of the following represents voltage ?

W
(1) ork done

Current x time

(2) Work done x charge

(3) Work done x time

4) Work done x charge x time

Current
Rrifofag § & =r-a1 dieeol &I e 8 7
(0w (0) F x oA
ST X JHY
gy PP (4) W x AL « FHA
IEdl

4. Magnification produced by a plane mirror is :
aiaE giur ® feg STads BFT
(1) m=>1 (2) m<1 (3) m=0 4 m=1

5. Force acting on & stationary charge Q in a magnetic field Bis :
' BQ BV

(1) BQV @ -7 ® (4) Zero
W%Bﬁ@ﬁa?mramowwﬁww%:

7 2 g =& @ !
(1) BQV @ o

(4)
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If a block of a material released under water come upto the
surface of water :

(1) The upward buoyant force acting on block is greater than the
gravitational force o

(2) The upward buoyant force acting on block is less than the
gravitational force

(3) The volume of water displaced by block is less than the
volume of the block

(4} The density of material of block is more than the density of
water _ -

@) M= = we@d W g w1 o, Ris § oo @ =w 2
{4) ﬁ?%wﬁwmmﬁ%mﬁeﬁ%%
An object of mass 2 kg is sliding with a constant velocity of

4 m/sec on a frictionless horizontal table. The force required to
keep the object moving with the same velocity is :

(1) 32N 2 oN 3) 2N 4) 8N

‘2%mm:rﬁ@a!§qﬁﬁwﬁ=rﬁaw4rﬁ/ﬁ%ﬁuaéw

;w@%laﬁﬁmaﬁﬁaﬁmﬁwﬁ%?@aﬂaﬁww

(1) 32:13_'{ {2) OT"{G:I' (3)2% [4) 833\27{

P.T.0,
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8.

10.

A submarine sends a sonar pulse, which returns (rom an under
water cliff in 1.0 sec. If the speed of sound in salt water is
1530 m/sec, the distance of cliff is

(1) 1530m  (2) 765m (3) 3060m (4 1m

qug&ﬁms@aﬂwﬂﬂﬁ% I B 9l & oY U&h =S
& 10 Qo8 §  aud dedt ¥ g ames aeit F @ @ 3

1530 d1/& &, @ yAgeh & @ee # gl 2

(1) 1530 (2) 765 (3) 3060 (4) 190

If the tension in a stretched wire is increased four times, how will
the velocity of wave in the string vary ?

(1} The velocity will be halved

(2) The velocity will be doubled

(3) The velocity will remain unchanged

(4) The velocity becomes four times

qﬁmﬁ@mﬁmwwmﬁmaﬂ% ar are F a¥
?JT%%WM?

(1) 3T e & Swm

(2) AT R T A AT

(3) 1 aruiEfia @

(4) & AL AL B S

Which of the following is & non-renewable source of energy ?

(1) Wood (2) Sun (3) Fossil fuels (4} Wind

oy 7 & B Sl B ST W E
1) @ @) T (3) @i g9 (4) B

(6)
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In a hydroelectric power plant more electrical power can be
generated if water falls from a greater height, because :

(1} lts temperature increases
(2) The thermal energy of water increases »

(3] Larger amount of potential energy is converted into kinetic
energy -

(4) More water molecules dissociate into ions

Uk STl A ST s GTFﬂEﬁa’E;HQTﬁRTBﬂ:[EﬁWW%
afe ol st Sa & Prear &) i

(1) 3991 99 ggar 2 _.
(2) 9 B arf ST e @

(3) it A= 7 Refost wof, wRer e § oRafy o S
(4) W%ﬁ%mmﬁgﬁ%

Which of the following graph represents  a uniformity of
accelerated motion ?

v ¥
(1) T) (2) ,Sr
t—+' X | , J 1.:_; X
¥ y
1?
(3) y ' 4 7
| \ \

P.T.O
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fore O R 9w WM UF GEE @0 Y i o 7

}.’

Y
(T @ sl
- 5 /
| :
t— t>
! y
v 3
' v
(3) TL . 4 4
|
t— = t > x
13. The colour of an object depends on ! |
(1) Wave length (é) Frequency
(3) Velocily (1) Acceleration
foreft aeg & T ML wET T
(1) SEUE L (2) FEERAr 9%
(3) 41 W (4) T T
14. The S.1. Unit of magnetic flux is :
(1) Weber/m® (2) Weber (3) Gauss (4) Oersted
bl wane H IO Mo HAEE €
1) Far/AE (2 A @ M (4 WS

2
15. An acroplane accelerates down a runway at 4 m/sec” for 30 sec,

ungl it finally lfts off the ground. The distance travclied before

take ofl 18

(1) 120m (2) 1300 m (3) 7.5m 4) 900m

(8)



16.

SET/17/19/XI(B)/(1)

Wﬁnm@ﬁw-wwsoﬁm%ﬁm4ﬁt/azaﬁwﬁ
@Rd 8idl 8, 519 9% % gg o Siew Hux q4dl o oar s
% geet =l el gh R

(1) 120 (2) 1800+ - (3) 7.54 (4) 900

Commercial nuclear reactions are based on :

(1) Nuclear fusion

‘- (2) Nuclear fission

17.

(3) Combining two or more lighter nuclei to get energy for reactor
(4} None of these .

it s fugey srafia o -

(1) T eraT ¢

(2) bl fageq av

(3) &rmﬁ@raﬁﬁcﬁﬁﬁsmﬁfﬁaﬁrmﬁﬁmaﬂ‘ﬁqwé‘%
Foll U e T

(4) 379 | ®id e

. Magnetic lines of forces emerge at :

{1) North pole and end.at South pole
(2) South pole and end at North pole
(3] In mid of North and South poles
{(4) None of these

1 aﬁﬁgawamamuﬁgau?ma—cﬁ%

P e m—

(2) ﬁaﬂﬁgawaﬂngHW-ma—rﬁg

(3) Il wer N g B wqem
) 3§ FE T8

aLY
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18.

19.

20.

If a current carrying straight ¢onductor is held in right hand such
that thumb poirits in the direction of current. The fingers will
wrap around the conductor in the direction of the field lines of the
magnetic field. This is known as : "

(1) Right hand palm rule (2) Fleming's left hand rule’

(3) Right hand thumb rule (4] Newton's rule

ulE wE aRETE d A A afen e # g9 avE Ushel ST 8
ﬁﬁa*wwﬁﬁsnﬁéﬁmw%wﬁ&nﬁ,aﬁﬁﬁ%@?ﬁaﬁ
trem ¥ ey &= B A wwedl @ R § B 2y FE ofr S
3 .

(1) AR a1 A e o R (2) SR F A e e
(3) @fed err & IS B P (4) =S @ FE

The device used for producing electric current, 1s called

(1) Generator - (2) Galvanometer
(3) Ammeter (4) Motor
ﬁgﬁmﬂmﬂﬂaﬁm&ﬁgﬁaaﬁmﬁ%:

(1) T (2) TR

(3) amfizT (4) AX

Most of the refraction for the light rays entering the eye occurs at :

(1) The suter surface of Cornea (2) Pupil

(3) Optic nerve (4) Retina

s A FTa drell TerTeT Ol ol STEETH STUaH Eldl B
3

b & AEA TE W (2) A W

(1) |
(4) e o=

g s

(10)
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A person suffering from Myopia can see ;

(1) nearby objects clearly but cannot see distant objects
distinctly |

(2) distant objects clearly but cannot see nearby objects
distinctly

(3) nearby as well as distant objects clearly

(4) can see objects at infinitely large distance clearly

Fere gfte dw & ifdq afva 3w aewar 3

(1) Wﬁdﬁﬁaﬁa@aﬁqﬁmmwgaﬁwﬁeﬁwﬁ
Y el 3@ Hehar

(2) {{aﬁaﬁaﬁzﬁrwwqu%a@aﬁﬁmtﬁiw
TE @ g

(3) T AT GT i FEgS W AH-AE
(4) -Smgﬁwﬁuﬁmggﬁaﬂ dh-91% O el &

In a circuit, a metallic wire is connected in scries with a battery
and an ammeter. If another wire (same ;'netal, same length and
cross-sectional area) is connected in parallel to. the metallic wire,
the current in ammeter will be : |

{1) Halved (2) Doubled (3) Four times (4) Same

TH 9RO H o ofed aR ooF Yed 9w um owhex @ mpr

.évﬁmqﬁgmﬁlﬂﬁazﬁmg a?ﬁ-mléuéa@maruﬁz@aw

THY TR, WW%WWﬁ‘Eﬁgﬁmw% st 7
g7 B SR

(1) et (2} T (3) Eﬂ?ﬂ:ﬁ (4) o)

11
(11) T
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23. Electric fuse is placed in ............ with electrical appliance for

24.

23.

- protecting it :

(1) Parallel (2) Series

(3} Neither parallel nor series  (4) None of these

T o W A ITHCT B qEW B Y g usuwm%l?rg,ﬁ
IYHT &

(1) a9 o (2) 2oft §
(3) F-dl gaEraT ¥ 7 ar Ao 7 (4) =R g T8l

When an object is at infinity. The image formed by a convex
mirror will be : |

(1) At focus, real and erect

{(2) At focus, virtual and erect

(3) At focus, real and magnified

(4) At between pole and focus

Sf U a%] ST UK &, W IO GO @10 o S 8 o
(1) BiEd TY, arEdides gd drer

(2] ®iHd TR, ITAEN TF e

(3) HIEE UY, dTEiaH T IR G

@ g7 o B F A

While using a convex lens as a magnifying glass, object should be
palced :

(1) Between focus and optical centre

(2) At 2F

3) Between F and 2F

(4) At focus
(12)
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27.

28.

30.

31.
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Uh IO TH B UF Tadd @ qE TgET wd He, qEG B T@AT
Tifew

(1) m@wﬁm?ﬁf%r{w

(2) 2F X

(3} Fud 2F & @7

(4) BrERE uY

wﬁ'{asrqo‘cl%?ém TeldR o e §

(1) serfasier B | (2) wfgardt
(3) T g (4) SreTEr 8
T A S

(1) aw @) e

(3) et | (4) @

Y + Uty wferge wRm

(1) aredymeis (2) arafgsts
(3)  Syefargsty (4) Syt
TelE § garg B -
(1) ageT (2) =y
B = (4]~ Srereitag

S @lif® T giRE gdha T &Y R U ey Y
(1) oifes — (2) QAHEEE  (3) TR @) Sryeifeses

_‘ﬁmxﬁ@%’ﬁﬂ%lﬁﬁfiﬁm%?

(1) FH® 2) ST _ A3—ereig -m .

(13)
P.T.0.
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32.

33.

34.

35.

36,

37.

38.

39. What is the piu

Pre arfemeRT 1 FHes Rl F@f e ¢

(1) =Tg3MEhy HH= (2) wewRd anl

(3) umER @) e e EE
e e R

(1) venf= (2) "By (3) ST (4) e
‘_ﬂ%ﬁﬁ_«ﬁmﬁw,ﬁdﬁ@ﬁ% |

(1) a7 (2) <y (3) ST (4) SEET
‘i @l ey s 2

(1) weplaes (2) awE (3) g (4) WHaH
Fill in the blank in question with appropriate verb :

Either he or | .oooooiiiinnns mistaken.

(1) are (2) am (3) is (4) would

Which is the correct indirect speech of the sentence - He said,
"That will do." ?
(1) He said he would do. {2) He is said to do.

(3) He said that would do. (4) He said that that will do.

What is the meaning of the word : PULLULATE ?

(1) To breed and spread rapidly (2) To spray

(3) To pull and level (4) To put in pyre and burn

ral of the word : SYLLABUS ?
(1) gyllabusies (2) Syllables

: syllaby
(3) Syliabt (4] iPYMEEY

(14)
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41,

42.

43.

44,

45,
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"The cyclone devoureld anything standing in its way." Which figure
of speech is employed here ? B
(1) Metaphor . - (2) Metbny my
(3] Personification (4) Simile -
The idiom 'once in a blue moon’' means :

(1) boast (2) ce.rtail_ily
(3) very rarely (4) " very expensive

Choose the correct phrasal verb to fill in Lthe blank : 'Nobody will
............ with his behaviour'.

(1) come up (2) getin (3) putup (4) putin

Which of the -folléwing sentence is correct ?
(1) 1f you pour oil on walter, it may float.
(2) f you pour oil on water, it will float.

(3) If you pour oil on water, it shall float,
(4) If vou pour qﬂ on water, it floats.

To turn the tables' méans :

(I) To make space 2) “To argue

(3) To reverse the conditions  (4) To make a fane
1 S,

Matter written by hesad.js known as :

(1) Manual _ (2) Handicraft

(3) Hieroglyphic 3 MaBUSc:_ript

(15)
P10
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46.

47.

48.

Which state government has launched e-health program
"Jeevan Rekha" to provide a centralized database of healthcare
information ? ,

{1) Chhatusgarh ©(2) Tamil Nadu
(3) Kerala (%) Guarat

Ry T T R AT & g SIEE HET
% Ry csfe TEr AT 4-dedr Sl A R

(1) wiETe (2) afdeTg
(3) &7 (4) IS

The National Girl Child Dav is celebrated on which day ?
(1) January 22 | (2) | January 23

(3) Januafy 24 (4) January 25

s B i s gy Rew wa swewAr ST 8 7

3) 24 o 4) 25 S
Where is the headquarters of International Vaccine Institute (IV]) ?
(1) South Korea () Germany
(2) Braz! (4) France
wﬁﬁﬁﬂﬁwwmq@mﬁaam o & 7
o = | gl

(1) afer S 2

i (4) W
(3) °
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50.

51.

al
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When First Five Year Plan was launched ?
yeell JEqdia o e @ A g A 7

(1) 1947 (2} 1951 - {3) 1948 '[4} 1952

Indian Super League is associated with :

(1) Hockey  (2) Football (3) Badminton (4) Kabaddi
FeTs guiei waferr ¥ o _
(1) &= | (2) %ee & (3) ¥sfyvew § (4) Fed @
In given-table, which of the following statement is correct ?
? i
Element W X Y Z
|_Atomic Number 9 11 17 19

(1} Wis a metal

(2) W is more reactive than Y

(3) X is more reactive than Z

(4} Y and Z are in the same period :

4T Gl R e @ § dmear 9 g g 7
T : [ e

P S P P
] WY SRR 9 11 I [ 19 f
(1) Wus g 2 |

2) W, Y& s feamelld B
(3) X,z sitrs Brarefls

@) Y AR Z e e ¥ ¥

(17)
P.T.0
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52. Latent heat of fusion is :

(1) shown by a change in temperature
{2) not shown by a change in temperature
(3) heat released when ice melts

- (4} heat associated with diffusion of gascs
T Y FO | |
(1) g afadsr @ aftefée erd @
(2) T uftede | gt et el ®
(3) 0 Ruert 9x Frfa o=
(4) = H feraeT & wEET

53. A liquid boils at 323 K. Its boiling point in °F and °C are

respectively :
(1) 122 and 50 (2) 50 and -122
(3) 50 and122 (4) Nome of these

U &a ¢l daudis 323 K & | sd@ Fagdis °F a9 °C § el
(1) 122750 ' (2) 507 -122
(3) s0=122 : (4) 39H ¥ B B!

54. In an organic compound percentage of C and H 1s 54.5% and
9 1% and remaining is oxygen, then empirical formula of this

compound is :

ofs fpdr s A ad 54.5%, BEENH 9.1% a9
SR T & =a AE FHr wEeH 9 B

(1) CHO @ CoHg0 B CHOy (4) CyHLO

(18)
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57.

SET/17/19/XI(B)/(1)

In dry hot weather, water kept in an earthen pot becomes cool due
to the phenomenon of ;

(1) osmosis : (2)  diffusion

~ (3} sublimation (4) evaporation

IF WE Q9T F, s B u @1 o B2 8 @ BRI
(1) gIrger o (2) famor
(3) SeEyrE (4) args

Which of the following is. a hon—metallic liquid at room
temperature ?

(1) Bromine (2) Chlorine  (3) Selenium (4) Mercury

PR & & #im eteng o @ @10 0T 29 oreem #F Ar B 2
(1) s (2) F&T  (3) SWPEm (@) uw

Which of the following will show Tyndall effect ?
(1) aqueous sugar solution |
(2). aqueﬁus sodium chloride solution

(3) aqueous starch soclution

{4} agueous ethanol _ ‘

Frer & @ B s 99 g & 7

(1) =t &1 STofte faea

(2) ®fean aAugs & Tfﬁﬁq frrre

(3) wE & Selld faead

(4) ety FEAT

(19)
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58.

59.

60.

61.

Concentration of the solution prepared by dissolving 40 g of NaCl
in 100 ml of water at room temperature is :

(1) 28.57% (2) 3.5%
(3) 0.28% (4) None of these

40 T Nl @t 100 ml s & e R a9 d T faere @ s
BN

(1) 28.57% (@) 3.5%

(3) 0.28% (4 R | g T
Which of the following is not a stable mixture s

(1) Milk (2) Sugar in water

(3) Copper Sulphate in water  {4) Chalk powder in water
e § @ B O Rl Preor 7@ @ 7

(1) 74 _ (2) & H =)

(3) oI H PUT BT (4) @ & =@ (wreEn)

A solution of hydrogen peroxide contains 6.8 g HyO, per 100 mi.
The molarity of this solution is

m@qqqm@%loomﬁﬁmﬁasma@mumﬁ
@ﬁmglwﬁﬁqﬂaﬁﬁwwﬁ?

1) 377 (2) 0.2 (3) 0.38 4) 2
Which of the following has highest number of molecules ?
) | g H20 (2) 1g NH; (3) 1g Hy (4) 1g Oy
REL
1 H,O @) 13 NH3 (@ 13 Hy (4) lam 0
(1)
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63.

65.
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Which of the following is an exothermic reaction ?

(1) electrolysis of water (2) photosynthesis

(3) decomposition of CaCQO4 (4) Process of rﬁspfration
Pt & & 3w somrd arfifear 2 2 .

(1) fagE sgges (2) wERIT-HestwT

(3) Cacfo3 ol fEres (4) saas R

A white precipitate is obtained by adding dilute sulphuric acid
into a solution of :

71 & foad faeam § ag o @ o s W wRe eEd g

B ?
(1} NaCl () BaCl (3 cucy (4) FeCl,

A solution turns phenolphthalein indicator pink. The most likely
pH of this solution is :

pH & ¢ -

(1) 1. 2 5 3 7 4) 10

Which of the following salts gives an alkaline solution on
dissolving in water ?

(1) NaCl - (2 NapBO,

(3)  NagCO4 (4) None of these
ﬁ‘iﬁﬁﬁaﬁ?-mwaﬁﬁgaﬁmmﬁw_wt? ?
(1) NaCl | (2) NaySOy4

(3) NapCOq (4) ¥ | B 5§

86.. A basic oxide is formed by thg element - -

(1} Na (2) P @ s @ o
(21) P To
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67.

68.

69.

70.

7L

Which one out of the following metals will be displaced {rom the
solution of its salt by the other three metals ?

B # g8 Al uig ool @ IEe fmmm A7 e I oange

(1) Al (2) Ag '-(3) Fe -~ (4) Cu

The number of protons in an atom of element X is 16. The number
of electrons present in its ion X%~ will be :

X g ¥ vleEl & @ 16 31 zEe X2 omd H goEg @t
He= B\l '
() 18 @) 16 @) 14 @ 8

Which of the following molecules possessés a double bond ?

(1) Hy (2) Oy

(3) Cly (4) None of these
et & & fopg aro] F e g SR BT © 7

(1) Hj (2) O

@3 Ch (4) 3T A BE T

Iron is mixed with other metals to make an alloy called stainless
steel, The other metals are :

(1) Cuand Ni (2) Cuand Zn (3) Cuand Cr (4) Crand N
A gy or ergelt & fHERRY wwAE W S S 1 d o
(1) Cu T M 2) Cudgzn (3 CudaCr (4 CraM
Which of the following is not an allotrope of carbon ?

(1) Buckminster fullerene (2) Graphite

(22)



72,

74.

SET/17/19/XI(B)/(1)

et | e PE T s 'y g @ Y v

(1) "R Berds (2) kg

3) BT . (4) ?FIE‘L'

The functional group in butanol is ;

(1) aldehyde group (2) alcohol group

(3) ketone group (4) carbbxylic acid group b,
2R ¥ gufters R wE B |
(1) Ufcsere (2) Uhlee

@) e (@) PR

During the process of cooking, if the outside surface of the utensﬁ
gets backened, it indicates that :

(1) the fuel is burning completely

(2} the food is cooked completely

(3] the fuel is not burning completely '

(4) the food is not cooked completely |
Gl ThR WY Ay S99 @ 9Ter 99 S Bl S LRI
2R | |
RO PR § e W@
(2' G gl 9E | 9 e B
) %o Poiew &/ E S ver ¥
(@) W g @ o Tl U wmr oy

The electronic canfiguration of gn element is 2, 8,3
periodic table the element is placed in :

(1) 1stgroup (2) 3rdgroup (3 T3th grouﬁ (4)

In modern

15th group

, |
(23) P10
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75.

76.

77.

78.

T qva W SERTE e 2, 8, 3 B, @e enyfer erad ®ieol @
fp &t & & 7 -

(1) wean @t (2) drexr @t (3) 13&T @ (4 1541 @

The reaction CH, + Cly —82— CH3Cl '+ HCI is an example of :
(1) addition (2) substitution

(3) hydrolysis ' (4) - oxidation

CH, + Cl, —T _, CH,Cl+ HCl a8 Sl JEeT §

(1) €D [ Hehe (2) e

(3) STETgEe @ FferereRTl

Kuffer cells are found in ......... .

(1) Kidney (?) Liver (3) Blood (4) Heart
SRR 1 i ENPRRSRPPRRRRS o ot sl €

(1) 6 - (2) g% (3) T (4) &a4
The pace-maker of the heart is |

(1) Bundle of His (2) A.V. Node

(3) S. A. Node (4) Purkinje fibers

zam o UHAFL B |

(1) =vsd Sl & (2) we do s

(3) wdo Qo IS (4) TR

A man of blood group A marries an AB blood group women. Which
type of progeny blood ‘group indicates that the man is not

homozygous ? |
@;q@m%ﬂzﬁrmﬂq@A%lmmmwaﬁmé
%%,%q@.mﬁ%%ﬂﬁwﬁﬁm%m
e & @ O § B 7 | |
(1) AB @ A 8 B 4) 0

(24)
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79. 70s type of ribosomes are found in :
(1) Prokaryotic cell
{2} Eukaryotic cell
(3} Both prokaryotic and eukaryotic cell
(4) None of the above

705%%1}3&’@%@@%%:

(1) TR B &

(2) s e §

(3) o, WEREfes od DR Hiftmw 3
(4] gﬂﬁﬂﬁ‘ﬁ'aiﬁﬁﬁ " et

80. Lignin is deposited in :

(1) Xylem tissues . (2) Phloem tissues

(3) Cortex - .(4) None of the above

ferfere s @rar 2 o

(1) =TEem o () e Ee §

(3) avge #- : (4) STOR X B Rl ¥
81. Which of the following is known as 'Suicide bag' ?

(1) Centrosome I(QJ Mesosome

(3) Ribosome (4) Lysosome

Tt B @ T ST Al e ¥ 7

(1) AHE (2) HEHE

(3) TFAERT F L (4) e @)

(25)

F.T 0
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82. How many hydrogen bonds are found between Guanine and
Cytocine ?

{1} Two (2) Three (3) Four (4) Six

W@W@ﬂﬁ%ﬁﬁﬁﬁﬁﬁﬁﬁ@%@ﬁﬂ?ﬁ@%%?

(1) & (2) & (@) =X 4 @
83, Mitochondria are not found in :

(1) Blue-green algae (2) Green algae

";.'(I3.) Red algae (4) None of the above

(1) Sier Bt A A (2) eRd = =

(3) @ dar | (4)@%[&?[1‘4‘1%’5@3?6?
84. ‘Starch and Sugar aré : R
'- (1) Protein . ; ~ (2) Carbohydrate
(3) Fat (4) None of the above
g ud B & | _
(1) e (2) FEEIEgE
(3) ¥ | (4) sudled § B @ ol

85. Pectinis:

(1) Fat (2) Carbohydrate

(3‘ Protein (4) Inorganic compound

gy | (2) =EEERe
{ .

(26)



86.

87.

89.
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Process of heating of milk at 62.8°C for 30 minutes followed by is
cooling is known as :

(1) Nitrification (2) Pasteurization
(3) Sterilization (4) Freezing

gaa%628°cw30ﬁlﬂzaaanﬁaﬂﬁ%mwsraﬁﬁaﬁm
Bl FET §

(1) EerenTor (2) wreERTESTATT

(3) Frehres = 4)  sfrres

Which bacterium is found in human intestine 2

(1) -Vibrio Cholerae (2) Bacillus anthracis
(3) Escherichia Coli (4) Corynebacterium

HE-H STy me @ affer ® oy orer ¥ 7

L) MR e @ e ceR

SR @) B

Which of the following causes food poisoning ?

(1) Xanthomonas Citri ) Bk

(3) Escherichia Coli (4) Clostridium botulinym

e B R B AT R g oo &

(1) o=iararg Rt 2 B

(3) swEfifeqr wire @) TRy —

Flower is & : | -

(1) Modified root (2 Modified shogy

(3) Modiﬁed leaf (4) None of the by
(27) |
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90.

o1,

92.

U B O

(1) wuria o= (2) BT WS

3} w=a=RE o=t (4) SUdeRT H g Fe!

‘Banana is : _

(1) Berry (2) Pome {(3) Pepo (4) Lomentum
T B

() 99 %1 (2) 99 (3) dmu (4) ="

Botanical name of red gram is .

(1) Cajanus cajan (2) Pisum sativum
(3) Phaseolus radiatus (4) Gossypium hirsutum
A o 1 aFEafaE AH B |
(1) Porre HMT | (2) TIEET GerEaH
(3) Dfsfiawy Wsded (4) T Bgeq
In human males the paired accessory glands are :

(1) Seminal vesicles {(2) Testes

(3) Prostrate (4) Vas deference
v wrdt § geed weEd AT S g :

(1) Y (2) g

(3) W (4) T afedl

93, The process of photosynthesis is maximum in :

[l) Green light (2) Yellow light

a) Red ight (4) Orange light

(28)



94.

95.

96.

97.

TEHIST-HIATT it By it axdy % ;

(1) =X gt H

(3) I weprer §

(2)
(4)

Who has given the term Vitamin ?

(1) Louis Pasteur

(3) - Priestley

feftm s T fear oy ?
(1) g =

3) Bt

Pepsin digests :

{1) Protein

(3) Carbohydrates

U e ¥

(1) SR @

(3) =wEEESe =t

pH of saliva is :

@Y %I pH gl ©

(1) 9.5
Myoglobin is found in ;
{1} Lungs

(3)

Muscles

(2) 80 .

(29)

(2)
()

(3)

(2)
(4)

SET/17/19/XI(B)/(1)

Ut wepraT F
AR SepraT ®

Funk
John Lister

T
ST ferex

Fat |

All of the above
QM H
SYUFT g9
7.0

Blood

None of the above

P.T.0
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g88.

99.

100.

ArATEIE I ST o

(1) %3 o ) TgTH

(3) wiEafsTEr H | (4)@%'&%@7@1&3@1
Amount of blood received by brain every minute is :

ofteer Ry ol free W ga @l AE o
(1} 2500 ml (2) 1000ml  (3) 750 ml (4) 450 mi

Vessels are absent in :

(1) Gymnosperms

(2) Pteridophytes

(3) Angiospmers

(4) Both Gymnosperms & Preridophytes
(1) orrEgaEsh o

(2) AWSTHEH T

@) g J

(@) ermgaEl od CRETHEEH 2 A

Which of the following plant is a parasite ?

(1) Cuscula ' (2) Taxus

(3) Ginko (4) None of the above
By 7 A A e gl §

W CUECK] ' (2) FaE

@) Suded ¥ § w5 T
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